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Natural Numbers - Nat e _Fh:’ +| M countingnumbers you learned when you

Whole Numbers - Whole numbers include all the F-I'h.ll‘l] numbers and D .

Integers- Are whole numbers and the QB% m of those numbq\
™
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Rational Numbers- w 1
in decimal form is ;iu?:i rmMmtn ':,. ¥ Wﬁ?’.z" e Arational number




MName ALL the set(s) of numbers to which each number belongs.

Sets: Hﬁral, wﬁe. Ikers, Hgﬁ'nad* anﬁﬂ?ﬁl
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Answer the following questions with either True or False.

11)
12)
13)
14)

15)

All integers are rational numbers. ’Tmt-.-
All integers are whole numbers. ﬁ\l 5‘( E}f.i - \

. -
All negative numbers are intugur;.j:ﬁﬂl{ S€ E X .~ l _E‘.'i

All fractions are integers. & [5£

If a decimal never ends it is an rational number. Fﬂ.{ Eq_
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Sports Major League baseball has
rules for the dimensions of the
baseball diamond. A model| of the
diamond is shown.

1. On the model, the distance from
the pitching mound to home plate
is 1.2 inches. Is 1.2 a rational

number? Explain.

2. On the model, the distance from first base to second base
is 2 inches. Is 2 a rational number? Explain.

3. The distance from home plate to second base is V8 inches,
Using a calculator, find +/8. Does it appear to terminate or repeat?

4. To determine if the number terminates, on your calculator,
multiply your answer to V8 by itself. Do not use the x? button.

Is the answer B7

5. Based on your results, can you classify ﬂ.-"'E as a rational number?
Explain.
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Words Raticnal Number Irrational Mumber
A rational numbser is a number An irrational numbser is a

that can be expréssed as the number that cannot be
ratio %, where a and b are expressed as the ratio %, ::H"“'"
integers and b # 0. where o and b are integers mbers
and b # 0. -
= 7
Examples —2,5, 376, —12g W2 = 1.44213562... L
. _— VE]
Mumbers that are not rational are called irrational numbers. The

square root of any number that is not a perfect square number
is irrational. The set of rational numbers and the set of irrational
numbers together make up the set of real numbers. Study the Venn
diagram below.

Twho

Examples »

Mame all sets of numbers to which each real number belongs.

L 0.2525... The decimal ends in a repeating pattern. it is a
rational number because it is equivalent to %
2. V36 Since V36 = 6, it is a natural number, a whole

number, an integer, and a rational number,

3. —7 —4/7 = —2.645751311... The decimal does not
terminate nor repeat, so it is an irrational number.



Got i+7 Do these problems to find out.

a. \,:"ﬁ b. —EE c. Y100 '-fD

5

Compare and Order Real Numbers

You can compare and order real numbers by writing them in the same
notation. Write the numbers in decimal notation before comparing or

ordering them.
F Tson
~Examples >
Fillin each| | with <, >, or = to make a true statement.
2
L. 7 ( 25
V7 = 2.64575131... | Nk
22 = 2 666666666.. 26 27

Since 2.64575131... is less than 2.66666666..., VT < z%.

5.1&?1 +/0.02
15.7% = 0157 Yooz 15,79
. . . . —t— . . . .
V0,02 = 0141 011 092 013 014 015 016 017 018 019 02

Since 0157 is greater than 0141, 157% > +/0.02.



6. Order the set {«ul'ﬂﬂ. 6, E%. 5.35} from least to greatest. Verify
your answer by graphing on a number line.

Write each number as a decimal, Then order the decimals.

v30 =548
6 = 6.00 536 Y30 54 6
I i ——— 1 i + } +
5% = 5.80 51 52 53 54 55 58 57 5B 59 6
5.36 asbradl [ -
5 +% -§+ gh_h 4
From least to greatest, the order is 5.36, /30, 5%, and 6. 9(5’ Qq_?
Go¥ i¥7 Do these problems to find out. \.)\_P o
d. VI 3% e. VIT(D) 403 f. V6.25=) 250% a . S
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g. Order the 5&1{—?. —4/60, —?%. —EE—E} from least to greatest.
Verify your answer by graphing on the number line below.
23 6,
-~ -
N = R
+e " 5

=19 =18 =17 =16 =I5 =14 —-J13 12 -1 -1}



